Internal Assessment Test 11 -Nov, 2018

15CV5 [ Branc CIVIL

Sub: [ DESIGN OF RC STRUCTURAL ELEMENTS Sub code: | h:
Date: | 1120/2018 J Duration: | 90 min's .m;:}?; 50 | Sem /sec: S"SEM/A&B ‘ OBE
Note |Useof is 456:2000 is permitted

Assume any missing data suitably |
Answer all the two full questions Marks | CO |RBT

Design a slab for a room of clear dimensions 3ImXSm supported on wall of

300mm thickness with the comers held down. Two adjacent sides of the slab are
continuous and the other discontmuous. Live load on the slab is 3kN/m* Assume [25] |CO4] L3

1 (a)
the floor finish as 1kN/m?, Use M20 grade concrete and Fed 15 steel. Sketch the

reinforcement details.
The main stair of an office building has to be located in stair case room measuring

2.5m X 5.6m. The vertical distance between the floors is 3.7m. Live load on stairs
2 is 5 kN/m. Design the flight slab using M20 and Fe 415 if the landing slab span in [25] |€O4 L3

the same direction.
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